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QUESTION 1

There is an active GTP path between an Alcatel-Lucent SGW and an Alcatel-Lucent PGW, On the SGW. Which of the
following CLI commands is used to check the "Restart Count" value of the PGW?

A. show mobile-gateway serving ref-point-peers s5
B. show mobile-gateway serving ref-point-stats s5
C. show mobile-gateway serving bearer-stats s5

D. show mobile-gateway serving path-mgmt-stats s5
E. None of the above answers are correct.

Correct Answer: D

QUESTION 2

Which of the following most accurately describes the messages used to manage a Diameter connection path?
A. The Capabilities-Exchange message

B. The Device-Watchdog message

C. The Credit-Control message

D. The Disconnect-Peer message

E. All of the above answers are correct

F. Only answers A, B and D are correct

Correct Answer: F

QUESTION 3

Which of the following statements are FALSE regarding the SGW? (Choose two)

A. The SGW is connected to the E-UTRAN via the S1-u interface.

B. At a given time, a single SGW handles all the connections for a given UE.

C. The SGW provides downlink data buffering and paging for an idle UE.

D. The SGW can connect to only one PGW.

E. The SGW acts as a common anchor point during handovers between LTE and Release 8 UMTS networks.

F. The SGW may provide data plane connectivity between two eNodeBs.
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Correct Answer: CD

QUESTION 4

Which of the following statements is FALSE regarding the UE mobility?

A. While in idle state, the UE mobility can trigger a handover.

B. While in idle state, the UE mobility can trigger a tracking area update.

C. While in connected state, the UE mobility can trigger a handover.

D. While in connected state, the UE mobility can trigger a tracking area update.
E. None of the above statements are false.

Correct Answer: A

QUESTION 5

Based on the information shown in the exhibit, how many IP addresses has the PGW allocated in total for all UEs?

L:PGU# show mobile-gateway pdn bearer-context

Bearer context

INSI APN Bearer Type QCI/ARP HMER/GER 5DF=
302720123456791 ipd.alcatel S Def 9/12 = (]
302720123456791 ipd.alcatel & Ded zi2 30000/20000 1
302720123456790 ipd.alcatel S Def 9/12 - (i}
302720123456790 ipd.alcatel 6 Ded 3/3 30000/20000 1
302720123456789 ipd.alcatel 5 Def 9/12 - (8]
302720123456789 1ipd.alcatel & Ded 4/4 30000/20000 1

B.5

C.4

D.3

E.2

F.1

Correct Answer: D
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